All CSPs consider closed-loop automation to be feasible
in the medium-term, improving CX is the
primary objective
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Most respondents say the majority of their processes
will support closed-loop in the next 1-3 years
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Organizational resistance to change and insufficient ROI
are barriers to implementation; legacy apps will prove
the biggest challenge

Why CSPs don’t start a What are their biggest challenges
close-loop project in implementation

Adaptation of internal/legacy applications
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Integration of internal/legacy applications
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Creation of closed-loop architecture aligned
_ to industrial standards
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Respondents are most likely to engage a single specialist
solution vendors to deliver closed-loop

( 360/0 of mobile-only operators focus on the role of internal development teams J
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Different vendors for
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® Cheaper / cost effective
® Saves time

@ Provides continuity

® Convenient

@® Guaranteed compatibility
@® Consistency

® Dedicated support team

Some vendors have specialised
services

Gives us a chance to implement
different services and compare
Using one vendor limits options
Using one vendor restricts
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